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sA = 71320 732m2
EifganiE T
FRIE e
FTAIT7ILE _ -
T V= 732.0 x0. 20 = 146.4] 146m3
W= 146.4 x2.35 = 3a40| 344t
HIEHEET
H1E $H#EZE1000x800 B ~
~1800x800 n = = 2 2%
Q251 FERLIE = 0.20x0.20x0.25 x2 x 2ERF = 0.04 0.1m3
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HiEmiET MELEF®

LALS GERD |LAL4 (85D LARLS (R48) s g B AUEE | om

e

MtmILE

BERET ( L=80m W=8.O0m A=640m2)
BED BE 24/ FER
ERmE YA B t=5cm m2 | 640.0 640
ASFEA0IE L=10. Tkm m3 32.0 32
ASERAn3E t 75.2 15
TR77 MRS ftjgﬂsgﬁif 2 G m2 640.0 640
BRERE @E?ﬁﬁ—ﬁ%w—zos m | 105.0 105
X E#R EifR B m 2400 240
e EESERR
M & t=bcm m 50. 0 50
ASEHERYEL (B t=5m m2 |2, 100.0 2,100
AS7Z LR L=10. Tkm m3 105.0 105
ASHEALIE £ | 246.8 247
TAuINERE |BEEREASIS Btsbem | L 1) 1000 2,100
REEEE WEMEHE
t= 5cm RC-40 m2 |[2,100.0 2,100

K& S m|1,200.0 1,200
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REMET

VAN ==
vl Il B Al Pl D Sl i e
M | BREmEE
wHED 4 L/EH  (80m)
v/ﬂ\
VAN ==
vl Il B Al P D Sl i e
e
EREEET
HIEQD BT &4 F / [F4] (L=80m W=8. Om)
el E t=bcm m — —
B ) B t=5cm m2 640 640
ASER I L=10. 1km m3 32 32
ASER I t 75 75
FHIEASI3 (HE 1R)
TAI7 Vb ER%E Et=5cm m2 640 640
EESE R o P03 m2 105 105/15x7m
RE# ES0 m 240 240
f#1E@ SETESME IR (L=600m _W=3. 50m)
el [£ t=5cm m 50 50
ASSASEER Y £ L|E t =5cm m2 2,100] 2,100
ASER I L=10. 1km m3 105 105
ASER I t 247 247
PRI Rl M son m2 2,100 2,100
TEERT e Reto m2 2,100 2,100
R B E£18 B 15om| m 1,200] 1,200
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[BAI]

SEERERTIHRE

R 0y % E

[#F#T]

RAAT R E (BA)

RAAT R E ()

[REHRT]

E#8(15¢cm)

ot

B #%(30cm)

OF FE O HE 6 i > ¢

R E R = (W)

[EEAIIVAT]

BHILHFRE

BBk AR R E

[HE# T ]

L N

EAHE RS

FHEEYZ

[REk#EKT)

BEERHEK - BiERIE

CSBERERE

[$HEREUET ]

iz U1 ¥ (t=20)

= hR R (t=20)

[AEEMEERT ]

HE-AVFEHRE
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HABYEER (SEEN

Ti ETHE BakIE | mIaH BRSE &

ORITEE

(REUI)7ERET) 8
TEBET (t=32) 1,300 m2 m2 =]
FEBET (=10 1,300 m2 m2 =
B (=5 1,300 m2 m2 =]
KBTI (t=5) 1,300 m2 m2 =
YRIWRE 1,300 m2 m2 =
GRS EE ) 8
TEBET (t=32) 4,310 m2 m2 =]
FEBET (=10 4,310 m2 m2 =]
B (=5 4,310 m2 m2 =]
KBTI (t=5) 4,310 m2 m2 =
(EEMEBHET) 8
TEBERT (=32 3880 m2 m2 =
FEBET (=10 3,880 m2 m2 =]
KREI(t=5) 3,880 m2 m2 B
19-0y3Y) S%s 1,550 m2 =]
PNZENC: S 493 m2 m2 B
WHY-PERER T 230 m2 m2 =]
(#&6T] =
SEBIRER/ y)ERE 908 m m =
SEBER) 0y)RE 209 m m =]
HhSIRR) 0y)ERE 137 m m B
(1258 8
SHIERE (21D 7R = S|
IREIRERE T M M 8
T ERRE 7 R =

SHESRE (B 8 # = S|
FHIRERE 8 ® B
ZHERRE 8 & = 8
(X@#RT) 8
F4R(15¢cm) 2974 m m =]
F4R(15¢cm) 1,100 m m =|
XBHRHEZS (W) 880 m m 8
(BEEMAIIVAT] S|
BEILHRE 19 & H B




FHE%IRERE 26| ¥ 75 B

CEE-AN S|

hARIE (H=2~2.99m) 29 X FN 8

chRIEA (H=1~1.99m) 273 &K FN 8

{EAER 496 * x =]

PAR(CHSB) 29 X x =]

TEERDZ 3,190 m2 m2 =

(R7KHEKT) S|

BRHKRB 107 m m 8

EEAUILANESRE 26| m m 8

KM E 4 | & m 8

CSBRZER=E 25 m m 8

(ShEhREVET ) 8

SHELDEA (t=20) 360 m m S|

SHEShRENIE (t=20) 730 m2 m2 =

(RRErEss ) S|

RERE B H B

NYFEE 3 = = B

7-7 N VFERE 6 = = B

OffF LSBE

(T=MAEET) S|

EBELDHI (t=5) 640 m2 m2 B

% (t=5) 640 m2 m2 =

X @R (EIFt=15) 240 m m 8

SHEELIRA (t=5) 50 m m B

SHEARENE (t=5) 2,100 m2 m2 =]

RiEEEE 2,100 m2 m2 8

HHEEIeT 2,100 m2 m2 =]

X@IR(EIFt=15) 1,200 m m S|

ORITEE HABEES AEL A
G=N={EiR) A
FEs (BEHR 8 X 5 A A
G i=l=(E) 8 X 3 A A
BES(RE) B X 4 A A
OMfF LEE HREBHMEET N A
FESAMRERE) 8 X 4 A A




